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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey

unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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